1x10°

8x10*

6x10% -

4x10*—

2x10%

N N
—2 —1 0

Data within bounds:
(Observable) =040 [Rentries = 100000]

All data:
(Observable) =0+£0  [Nentries = 100000]



6000 —

4000 —

2000 —

N N N N N
20 40 60 30 100

Data within bounds:
(Observable) = 90.60 + 0.17  [Nentries = 37991]

All data:
(Observable) = 34.77 £ 0.15  [Nentries = 100000]

N
120

140



4000 — M a/L

3000 —
2000 —

1000 —

N N N
90 100 110 120 130

Data within bounds:
(Observable) = 109.21 + 0.044  [Nentries = 27372]

All data:
(Observable) = 34.77 £ 0.15  [Nentries = 100000]



